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65 F L EFH T NA

Seed name 3R SF F
1 1 1B FF LI TF=RIBZEER
B £ AR METF=_RH5T |m§ FF /2 RAK
2 bye
bye BB FT /BB RAR
3 2 BT MET = R LKL 61. 61
BAX &% HET=X{EZE HE BT/ RE BT
4 EH BT EWT_RY5T 63, 60
XM fBF BAMENET=RI5D % FT BB RAR
5 FRF BEETO—>7=R957 63,64
BFEF BEEIO—>7=R957 |£§ RY/ BT ET
6 Bl SF BOAET=—RA—T> 64.75
BE #F 71— B RT/ BT BT
. bye 60, 60
bye BE £FF /B HET
8 BA =FF BERO—2T=R957
B HmEF BHELFAYEN % FT BB BAR
9 TRE %F BHRE 61, 62
Tk RF BHRE |iE BT/ R BT
10 bye
bye 83 AT/ R BT
1 $£3 FF BER w.o
I wF EyET=ZRIN—Y |£¥fj_ AT/ FI BT
12 &% BF BETAAEITF=RIFT 64, 61
£$HiE BF EtXAFEITFRHST MNE ST/ BERT
13 A BF RRA—VT=R957 64, 76(5)
[RE #£F BHRE |/|\aa &7/ RE 2T
14 A8 EF BET=R9357 26, 63, 7-6(5)
NG BiEF BEF=2R957 NE ST/ FE LT
= bye 63, 62
bye INR A/ A FARET
16 INR B INNREAHTZRYZT WINNER
h# FRF INSREAHT=RIZT B =T/ ER BET
17 HRE TR BAmENLT=RI5D 63, 26,7-0
= BAMENLT=RI5D |$a1§ FHk/ =H Bk
18 bye
bye i BET/ A DT
19 WA AEF BETAAEITF=RI5T 62, 36, 10-8
HiZE =% EtXAFEITFRHST R WET/ A BT
20 %k BT BET=REEE | 61,63
A WF BAMENLT=RI5D T/ K LT
21 KN EFE BHRE 26,60, 7-5
BE APF BAMET X937 T/ K LT
2 B EF 71— 61, 60
ik BHiEF 71— ik BT/ K ART
. bye 6, 62, 7-3
bye TH AT /AR £F
24 TR KFET=RYZT
AR ZF EtXAFEITFRHST B =T/ ER BET
25 a3 BF By EIFIV—F=RY5T 61, 62
Nt FZF BRA—VT=R9357 |E# BT /i 5T
26 bye
bye \iF BT/ B 854
27 W EF WAT X H= 36,64, 7-4
B fntk WEAT=ABE |um BT/ B ik
28 Il IEF REHO— 60, 60
=H BF BHRE B T /R BET
29 A BR¥ BET=R9357 61,46, 9-7
Ak HEF BEF=2957 HE REF/ HIE BT
30 #E AEF KEEUPSLTZRISTEE 61,64
RIR 55F SAHTC BE £T / ER BET
i bye 60, 61
bye hE 7/ ER EET
32 2 R E=F F7F)aykTC
FER FEF TIOTATT_REF
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